Potencias de 10 (C)

Calcule los siguientes productos y cocientes.

2,851 x 100

9,899 =100

1,998 x 100

2,792 + 100

3,905 x 100

5,028 = 100

6,623 =100

2,146 =100

5,574 x 100

1,077 x 100

2,127 +100

4,674+ 100

8,987 x 100

5,806 = 100

6,351 x 100

0,813 x 100

5,07 x 100

2,008 x 100

6,538 = 100

5,689 x 100

MatesLibres.Com




Potencias de 10 (C) Respuestas

Calcule los siguientes productos y cocientes.

2,851 x 100
285, 1
9,899 = 100
0,09899
1,998 x 100
199,38
2,792 <100
0,02792
3,905 x 100
390,5
5,028 = 100
0,05028
6,623 =100
0,06623
2,146+ 100
0,02146

5,574 x 100
557.,4

1,077 x 100
107,7

2,127+ 100
0,02127
4,674 =100
0,04674
8,987 x 100
898, 7
5,806 -+ 100
0,05806

6,351 x 100
635, 1

0,813 x 100
81,3
5,07 x 100
507
2,008 x 100
200,8
6,538 = 100
0,06538

5,689 x 100
568,9
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